EARAROBEEIERT — 2 N— IBISH —F

201858H 150 (k) 9mEIA#H4H

PR SR 3m® 2827k

(xwlw | lmEmml - |5 5) wom 8

[A~&£] 1 7% 1,500,000  ~ 23 :600,000 373 :375,000"

4 7% 225,000 5 3& :150,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
LN LS 4 3 | EIEFD 1:29.5 9-7-6 37.7| — 2 456 | IR (KH)
111 | /=717 = 56.0 - | ) s
LNPLTTY BTN ES A =) O | annig
olglglamxanrary # 3 g%ﬂ;ﬁz% 1:29.5 434 |33 — | 3 | 477 @Eﬁ;z (x#)
. g€ _ ISICE
AT MR B:FaFINTTT— e ) @z sy K
Y R4 :, 4 3 | KHEZ 1:29.7 1-2-2 38.6| — 1 514 |fBEARL ()E)
315|5 I;J‘_’i‘;’fw/j o ‘ 86.0 a8 G | AIEESE
: 7 > Bihriavior TEBHS
BA LIS f 3 sﬂi’n“gnﬁ 1:29.8 3-4-3 |35 — | 5 | 460 Iﬁ%%i((*#)
. 3/4 | IvESS
R:N—KZIS> B:T77 T REALR @ N H—L— - JvX> - T7—LARS
F4—ZXTTHYR H o3 élé%ﬂ’fé?@ (12310/23) 5-1-1 | 40.0| — | 8 | 457 @ﬁ?’;_ﬁ#)
R:IqY>7RAY BRAXT4+70— (-2) L R4S
T14ARNTIVE— # 3 g{lééi 1:(371).7 2-5-5 | 40.4| — | 4 | 412 m:%%gé (k)
QIN—HNE BRHA =T ®) 1=577—a
IAYLIS—R o3| SEER 1( 7‘1? 7-7-8 | 40.0| — | 6 | 46 gg;ﬁg ()
RT-Y2T4T—F BiIAYY b= 2| senss
R . 4 3 | FHEHWE 1:31.9 6-6-7 | 40.3| — 7 474 | FEEFEN (KFH)
8l7|7 zT//EJ_V/ - 56.0 (172) (-3) | EFEM
R: 7440 B:E—K-—>1 PR E 2 e
S #H 3 | BEEth 1:32.1 8-9-9 |39.5| — 9 468 | 1IBZ (EFn)
9|89 | E7¥AIA—K . 56.0 (1 1/4) 6 | W) Fr—xtEvar
R:ZPOCTUE—> BiIuF—IRT— =45
® I—F—@EBIERL
13—-7-
Ao=5"= 5,6,4,8,2,7,3,9,1
3T—7— 2,5,8,4,6,7,(1,3).,9
AT =gr= 2,5,4,8,6,1,7,3,9
[ RN
B 1 550 74K 1-8 340 & 1-8 1,730H &R 1-5-8 450
# B 1 1304 =5 150 B 1-8 3,020 EE 1-8-5 8,650
8 1509 5-8 180H B = 1-8 1,880
5 100M B H 1-8 3,560

ABICOVWTRDTEEERROODE. TR LIV,




